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%59 .10 SEFTIBBE = (5400 -2982.57 —324) x33% =690. 83 it

_ | —668.48 | _
5-%&&%@14&%}_5—““1454.29 =4.46 4

S RS O P, 4. 46 4F NFAT AR T EINON P, =8 48, LB H R AT 47

R A
1 Z#smM v
[(2.1+4.8+2.1+0.24) x(4.5+3.3+3.3 +0.24) -2.1x(3.3-0.24)] x2 +3.3
x(1.2-0.12)
=[9.24x11.34 -2.1x3.06] x2+3.3 x1.08=[104.782 -6.426] x2 +3.564
=98.356 x2 +3.564 =196.712 +3. 564 =200. 28m’
2B TRE
Sessm =Sk +2Ly +16 =98.356 +2 x (9.24 +11.34) x2 +16
=98.356 +82.32 + 16 =196. 68m>
BAIEBETRE
R EEN:1.5-0.15=1.35m>1.2m
BRI TTAE , MR BE SIS 3 D R T, BB R 2 A v Ko Ty
Lyg =[(2.1+4.8+2.1) +(4.5+3.3+3.3)] x2=[9+11.1] x2=40.2m
Ly =(4.8-0.5) x2+(4.5-0.5) +(3.3-0.5) =8.6+4 +2.8 =15.4m
Vew =1[1.0+2x0.3+0.5x (1.35 -0.25)] x(1.35-0.25) + (1.0 +2 x0.3) x0.25} x
(40.2 +15.4) :
={[1.0+0.6 +0.5x1.1] x1.1 + (1.0 +0.6) xO0. 25} x55. 6-(2 15x1 1+1.6x
0.25) x55.6 =2.765 x55.6 =153.73m’
4. FERRE TRE,
11



HaTﬁl\h‘%iﬁﬂi'—ﬁ%ﬁﬁxlﬁlﬁﬂ,Hﬂﬁﬁ%ﬁiﬁﬁﬂ: -1.5+0.6 = -0.9m > -0.3m, M5
AR, TR BN S, LUT ARt &

(1.5-0.25 -0.35) x0.24 x [40.2 + (4.8 =0.12) x2 + (4.5 -0.12) + (3.3 =0.12) |

=0.9x0.24 x[40.2 +9.36 +4.38 +3.18] =0.9 x0.24 x57.12 =12. 34m’
5. MR TSRS L TR
4.8x(3.3-0.24) =4.8 x3.06 =14. 69m*
6. LR NAREE LB NER TREE
[l 5 80 :4.8x(3.3-0.24) =4.8 x3.06 =14.69m”
7. Pd AR RS- TR
0.2x{[(2.1+4.8+0.24) x(4.5+3.3+3.3+0.24) -2.1x(3.3-0.24)] x2-4.8
x(3.3-0.24)} =0.2 x (98.356 x2 -14.69) =36.40m’
8. Ml s W BAR TR B
77 3
0.2x{[(2.1+4.8+0.24) x(4.5+3.3+3.3+0.24) -2.1x(3.3-0.24)] x2 -4.8
x(3.3-0.24)} =0.2 x (98.356 x2 - 14.69) =36.40m"
S. HEMEBRETREE
[(4.8+42.1-0.24) x(4.5-0.24) + (4.8 +2.1-0.24) x (3.3 -0.24) +4.8 x (3.3 -0.24)
+(2.1-0.24) x(4.5+3.3-0.24)] x0.08
=[6.66 x4.26 +6.66 x3.06 +4.8 x3.06 +1.86 x10.86] x0.08
=83.639 x0.08 =6. 69m”
10. ssh R TR R
[(4.8+42.1-0.24) x(4.5-0.24) + (4.8 +2.1-0.24) x (3.3 -0.24) +4.8 x (3.3 -0.24)
+(2.1-0.24) x(4.5+3.3+3.3-0.24)] x2-4.8x(3.3 -0.24)
=[6.66 x4.26 +6.66 x3.06 +4.8 x3.06 +1.86 x10.86] x2 —4.8 x3.06
=83.639 x2 —14.688 =152. 59m?

WK

LS 1. AT LASR ) T3 FAAMS TR, I p v S R B 4T,

S 2 AT AR THARSR AAMAER , B RIE LREARRZ T HRE, KGR h 2
B17&H,

B3 ATLMR Y TS AAMEESR , R A E R H R HIE, T/ E M TERE
T 60m’, TR BN EAET T 10% L4,

BT 4 AT AR THIASE FIAMETE R , B3 A7 0P T BB R 4 45 s 38 1 ph 2 77 73, B
TR W TR R R R TR AL,

2. 3 L TR 1 R BN TAE B 7ER 22088 |, LV B RIS EE 1Y 1 KEW T ;BT
6 A RIELBRERRE b, AL A T HRE 1 2 oA 43 L R 22 S-2h

B2 THIRMER O K,
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